Y.M Summative- Assessment-I Time: 2.45m
Class: 1% Sub: English Marks: 80

I. Answer any 5 questions. 5x6=30m
1. What trick did the stork play?

2. How many persons and animals were there altogether?

3. What should we eat more?

4. In whose garden was the carrot grown?

5. What did the fox prepare?

6. Which type of family do you have?

I1. Fill in the blanks.with suitable vowels to name the pictures. 5x1=5m

& )%

C__p s__n ___og n__t c_ . p

I11. Tick (V) the correct option. 5x2=10m
1. What did the fox prepare?

a)soup | | b) Burger|[ ] c) Both [ ]

2. What is the age of Aayush?

a) Sixyears[ | b) fiveyears[ | ) fouryears[ |

3. Where do we learn to read and write?

a) School [ | b) Temple [ ] c) Bank [ ]

4. Who belled the cat?

a) A wise mouse[___| b) Thegrocer ] c) Noond ]

5. Who invited the stork for dinner?

a) Thefox [ | Db)Thelion[ ] c¢)Thesnake[ |

IV. Write is ‘or’ are and has/have in the blank space. 5x2=10m

A bus four wheels.

W
f This a pair of shoes.



we kites.

300w
%@%
o~ W’ These butterflies.
V. Match the opposite. 5x2=10m
1. Hard a) short
2. deep b) broad
3. long c) soft
4. narrow d) sour
5. sweet e) shallow
V1. Change one letter write the new words formed. 5%x2=10m
1. Eat
2. Top
3. play
4. make
5. Heat
VI1I. Look at the picture and Rearrange the letters. 5x1=5m
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Y.M Summative- Assessment-I| Time: 2.45m

Class: 1% Sub: Maths Marks: 80

l. erte M for more L for Iess 5x2=10m
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IL. Circle the smallest numbers. Tick(Y) biggest number.  5x2=10m
1.20 15 14

2.17 19 16
3.16 11 15
4.0 9 6

5.10 18 13
111. Complete the number line. 2x2Y2=5m

v

0||£|£||£

v

2|0 {7 1|5 | 1|2
V. Write the ascending order /descending order. 5x3=15m
1.70,69, 72,7,15,68

2.6,12,17,19,2

3.11,12, 16, 15,19,20

4.44,68,94,23

5. 35,50,12,49




V. Match the following. 5x2=10m
54 nine 89

72 Thirty five 9

35  Eight nine
Fifty four
Seventy two
V1. Write numbers come, before /between /after the given numbers.

10x1=10m
1.8 10 2) 12 3 4 4H10_ 12
569 6) 12 7)58 60 881
9 , 62 10)19
VII. Write the number names. 5x2=10m
1.68 =
2.91=
3.25=
4.90 =
5.39=
VIII. Draw the correct number of beads. 5x2=10m

9 3 58 30 2 9 0 3



Y.M Summative- Assessment-I| Time: 2.45m
Class: 1% Sub: EVS Marks: 80

I. Answer any 5 questions. 5x6=30m
1. Write all the parts of a plant.

2. Which animals are called birds?

3. Why do wear clothes?

4. Write the food items you eat in your lunch.

5. What do you mean by domestic animals?

6. What is bamboo?

I1. Fill in the blanks. 5x2=10m
1. Plants are found in different and sizes.

2. We must our food nicely.

3. Our five organs are like our best

4. Shrubs have and hard stems.

5. Rabbit and fish are animals.

111. Tick (\) the correct answer. 5x2=10m
1. Which of the following is a shrub?

a) Neem [ ] b) Banyan [ ] c)trees [_] d) branches[ ]

2. A lives in a forest.

a) housefly [ b) goat [] c)dog [] d) lion []

3. We have ears.

a)yOne [] b)two [] c) three[]  d) four[]

4. We must not plants.

a)Grow [ ] b)cut [] c) water[ ]  d) none of thesq ]

5. We go to school in our

a) Dull dress[ ] b) fancy dressD ¢) uniform ] d) night dress[_]

1V. Write ‘T’ for true ‘F’ for false. 5x1=5m
1. We have two ankles. [ ]
2. We smell with our eyes. []

3. Pucca houses are mostly found in villages. [_]
4. We get oxygen from plants. []
5. Coconut is also a shrub. [ ]



V. Look at the picture and write their names. 5%x2=10m

V1. Match the following.
1. Rice

2. Pomegranate

3. Cauliflower

4. |ce cream

5. eggs

VII. Lable the part of a plant. 5x2=10m







Y.M Summative- Assessment-| Time: 2.45m
Class; 2" Sub: English Marks: 80
I. Answer any 5 questions. 5x6=30m
1. When was the moon shaped like a bow?

2. Who was mischievous?

3. Which axe did the Goddess bring first?

4. Whom is he speaking to?

5. Who played the flute?

6. What should we say if we meet a cat?

I1. Fill in the blanks. 5x2=10m
1. He got the of his honesty.

2. Now it is round as an

3. The ant fell into the .

4. A wolf stole a from a flock of sheep.

5. The monkey and fell on the ground.

II1. Tick (V) the correct option. oX1=bm
1. Who looks up?

a) Mother ] b)child [] c) Both [

2. Who was wet all over?

a) Monkey 1 b) Elephant[_] c¢) Both [ ]

3. What of these was his axe?

a) Gold L1  b)silver [] c) Iron ]

4. What is shining?

a) Moon [ ] b)sun [] c) stars [ |

5. Who feel in the river?

a)Ant [ ] b)Dove [ ] c) both []

V. Match the following. 4x2=8m

4. (d)

\ AR
Wi

Foot Fly



V. Look at the picture and write name these people. 5x2=10m

i 2. ]
N7
’ %%\‘
V1. Write the two sentences in to single sentence. 3x2=6m

1. Rahul saw the sun. The sun was shining in the sky.

2. Arjun saw karan. Karan was shooting a bird.

3. | watched the boys. The boys were fighting with each other.

V1I. Complete the following table. 3X2=6m
er est

Close

Thin
Hot

V1I1. Write the past tense of the following words. 5x1=5m
1. Go

2. Say

3. Meet

4. Invite

5. Run




Y.M Summative- Assessment-I Time: 2.45m
Class; 2" Sub: Maths Marks: 80

I. Word problems. 3x5=15m
1. There are 8 parrots,6 hens and 9 pigeons in the park. How many birds
are there in the park?

2. There are 5 bicycles on the road. Each bicycle has 2 wheels. How
many wheels are there altogether?

3. Rakesh’s mother made 18 jalebis. She gave 2 jalebis to each friend
Of her son Rakesh. How many friends got the jalebis at Rakesh’s house?

1. Show the division fact on the number line. 5x2=10m
1.18+ 3=6

2.21+7=3

3.19-4

4. 2+4

5. 5x2

I11. Write the following Increasing/Decreasing order. 5x2=10m
1. 996, 230, 755, 329,828

2.220,105,962,888,610

3. 15,50,90,150,75, 25

4. 758,225,428,961,575

5.7,45,55,175,15,10
V. Read the following multiplication and division facts. 2x5=10m



V. Tick (\/) the correct option. 5x1=5m
1. Out of 50 students,12 are absent. How many are present.

a)62 (] b}48 (J ¢)38(

2. The number ‘one hundred’ has digits in all.
a4 [ b)2 (] ¢3[]
3¢ ’1s the sign for:

a) Subtraction [ ] b) addition [ ] c) both
4. The sign of division is :

- ) p+ 0O ox()  d ]
5. The short form of ‘240+3’ is :

a)242 (] b)253 (] c) 243 ]

5x2=10m
V1. Write the place value and face value of the digit underlined.
Place value Face value 5x2=10m
1.191
2.108
3.48 9
4.9 46
5.6 5 4
VII. Write the numbers and number names. 5x2=10m
1. 4 tens and 7 ones

2. 8 tens and 3 ones
3. 2 tens and 3 ones
4. 1 tens and 4 ones
5. 6 ones and 2 tens
VIII. Write the tables of 2 & 6. 5x2=10m




Y.M Summative- Assessment-I Time: 2.45m
Class; 2" Sub: EVS Marks: 80

I. Answer any 5 questions. 5x6=30m
1. How do animals help us in growing crops?

2. Write the names of two shrubs.

3. What do you mean by a temporary house?

4. What do you understand by hobbies?

5. What do you mean by big plants?

6. Who are non-vegetarians?

I1. Fill in the blanks. 5x2=10m
1. A carries load for us.

2. and are called aquatic plants.

3. Gokul is a very boy.

4. Children grow up and become
5. We get wool from
II1. Tick (V) the correct optlon 5x2=10m
1. Which of the following is a pet?

a)Giraffe [ | b)Dog [ ] <c¢)Lion [ | d) Cheetah| ]

2. Rose is called a

a)tree ] b)climber[ ] c)shrub[_] d)herb[ ]

3. Inuits lives in

a) igloo D b) tent || c) flat || d) caravan| |

4. Food gives us to work and play.

a) strength [ ] b) power D c) weakness[__|d) energy [ ]

5. We get butter from
a)Juice 1 b)ywater[ ] c)ymilk [] d)curd []

V. Match the following. 5%x2=10m
1. Flat a) A house floating on water

2. Stilt house b) A large sprawling house with a garden

3. House boad c) A poor man’s shelter

4. Shack d) A house in a huge building.

5. Bungalow e) A house made on wooden poles.



V. Circle the odd one out.
1. Fruits seafood milk vegetables
2. rice sugar vegetable potato

V1. Write ‘T’ for true ‘F’ for false.

1. Trees have strong, heavy and solid stem. [ )
2. A shack is a poor man’s house. [ ]

3. We eat some vegetables raw. (]

4. There are many types of hobbies. ()

5. A big family is not called a happy family. )

VI1I. Complete the flow chart.

Things we get from animals

2x2Y2=5m

5x1=5m

10m
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Y.M Summative Assessment-|
Class: 3™ Sub: English

Time: 2.45m
Marks: 80

I. Answer any 5 questions.

1. What were the peacocks doing?

2. Who was always hungry?

3. What did the old man ask for?

4. What promise did the tiger make to the man?
5. Why were the lanes full of water?

6. Where do the boats sail?

I1. Fill in the blanks.

1. The IS at a standstill.

2. The crocodile moved its
3. The old man was a good
4, sails on the rivers.

5. The cloud are and making a loud noise.
[11. Write the rhyming words.

1. Men

2. Fine

3. Neat

4. Wear

5. Tail

V. Pick the odd one out.

1. Peacock  frog parrot pigeon

2. Umbrella  raincoat gumboot saree

5x6=30m

ox1=5m

5x2=10m

2x2Y2=5m

V. Choose the correct word and rewrite the completed sentences.

1. The farmer is very (joyful, sad) during rain.

2. The mother puts on (wet, dry) clothes.

3. The peacock dances (merrily, sadly)

5x2=10m

4. The children are playing with (paper boats, toys) in the flooded lane.

5. The vehicle were moving (fast/slowly) in the rain.

A:




V1. Fill in the blanks. With ‘can’ or ‘can‘t’.

. 1. Can a child climb the tall tree?
s No, a child ,buta
monkey easily
climb.
2. Can you fly an aeroplane? o g?.) 3 i:'
No,I ~ butthe pilot Ny A N N
! [ ﬁ —
A Y %Y
b | “ | |

VI1I. Write the plurals of the following.
1. Jackal =

2.Crab =

3. peacock =

4. Umbrella=

5. Friend =

V1I1. Match the words opposite in meaning.
1. dark a) empty
2. full b) boring
3. still c) last
4. Heavy d) slow
5. Interesting e) dry
6. Wet f) enemy
7. Fast g) moving
8. Hot h) dim
9. Friend 1) cold

10. First J) light

2x2Y2=5m

5x1=5m

10x1=10m



Y.M Summative Assessment-| Time: 2.45m
Class: 3" Sub: Maths Marks: 80

I. Solve the sums. 5x6=30m

1. Rohit, Rohan and Rakesh scored equal marks in examination if their
Total marks is 48, find out how many marks does each get?

2. A coat has 4 buttons. Find the number of buttons in 16 coats.

3. In a colony, there are 978 houses. Out of them 442 are vacant. How
Many houses are occupied.

4. In a school, there are 1245 boys and 1032 girls. How many students
Are there in that school.

5. Write the greatest number and the smallest 4-digit number.

a) 7,0,1,9 b) 3,4,8,1
6. Round the nearest ten and hundred.
a) 527 b) 69

I1. Write the following in Hindu-Arabic and Roman numeral. 5x1=5m
1. XXX =

2.950 =

3. XVI =

4.25=

5. 45=

I11. Write the increasing /decreasing order. 5x2=10m
1. 4258, 7458, 975, 3418

2. 5426, 846, 1254, 6258
3.1200, 1024, 4865, 1645
4.210, 412, 6564, 5214

5.5420, 2317, 1746, 6418



V. Write the expanded from the following.
1.4325 =

2.5374 =

3. 4268 =

4.7824 =

5. 2485 =

V. Use the place value to solve the following.

1. 82-38
2.69-29

b) Solve the following.
3. 3684-1241+3542

4.5 hundreds+13 ones -4 hundreds and 2 tens.

5. 215+685-453

V1. Divide.
1.35+5

VII. Write the tables of 4" & 6™,

5x2=10m

5x2=10m

5x2=10m

2x2Y2=5m



Y.M Summative Assessment-I Time: 2.45m
Class: 3" Sub: Science Marks: 80

I. Answer any 5 questions. 5x6=30m
1. Why do birds build nests?

2. Why is skeletal system necessary for a living body?

3. What are the features that help a bird to fly?

4. How can we keep ourselves germ free?

5. What is germination?

6. How can we keep our house neat and clean?

I1. Fill in the blanks. 5x1=5m
1. A birds flies with and movements of the wings.
2. The protects our brain.

3. are killed by the sunlight.

4. All living things need to grow.

5. The bird guards the nest.

111, Tick () the correct answer. 5x2=10m
1. Is found in colder regions.

a) Kutcha house b) Igloo [ |

2. Birds have feet with four toes on each.

a) Three | | b) two | |

3. There are main systems in our body.

a) eight [ ] b) twenty| |

4. Be one your while driving.

a) Left[ | b) right [ |

5. gave birth to a new plant.

a) Seeds [ ] b) Buds
V. Give two examples. 5x2=10m
1. Flesh — eating birds :

2. Type of houses :

3. Natural things :

4. Edible seeds ,

5. Movement of things ,




V. Write one word answer.
1. Types of clothes worn in summer

2. A passage under the road

3. A sensitive plant
V1. Match the following.

1. Junk food a) fruit
2. Spinach b) unhealthy
3. Duck c) Tongue
4. Taste buds d) webbed feet
V1I. Complete the table.

Types of Beaks

VI1I1. Write the names of Digestive system.

—

3x1=3m

4x1=4 m

10x1=10m

4x2=8m



Y.M Summative Assessment-| Time: 2.45m
Class: 3" Sub: Social Marks: 80

I. Answer any 5 questions. 5x6=30m
1. Who live and work in the state capital?

2. Where do the northern plains of India lie?

3. Name the crops grown in our country?

4. What is pisciculture?

5. Name the four main directions.

6. Why is India divided into states and Territories?

I1. Fill in the blanks. 5x2=10m

. is called the ‘ship of the desert.’

2. India is the largest country in the world.

3. The main food grains are wheat, : and maize.

4. People worship and during pongal festival.

5. The satpura and ranges are found in the central India.

111, Tick () the correct answer. 5x1=5m

1. runs the state.

a) The chief minister_] b) The Governor ] c) The prime minster[ |
d) The president| ]

2. Himalayas means the home of

a) Forest [ | b) snow| | ¢) desertD d) water | |

3. A book of maps is called a

a) Outlook | b)atlas [ | c¢) globelj d) calendar |

4, make our food tasty.

a)Oil [ ]  b)Gravy[ | c)spices] ] d)None [ |

5. The Nilgiri Hills are located in India.
a)South [ |  b)North [] c)West [ ] d)East [ |
IV. Write ‘T’ for true ‘F’ for false. 5X1=5m

1. Population is heavy in plains.

2. Aizawl is the capital of Mizoram. ||

3. Grapes grow in winter. [ ]

4, The work we do to earn money is called ‘occupation.’| |
5. India’s land is same at all places.



V. Match the following. 5x1=5m

1. Largest country a) Chief minster

2. Union Government b) Capital of Maharashtra

3. Delhi c¢) Central Government

4. Mumbai d) Capital of India

5. State Government e) China

V1. Write the meanings of the following. 5x2=10m

1. Solar system =
2. Occupation =

3. Transportation =
4, Healthy =

5. Himalayas =

V1. Write the names of States of Capitals. 5x2=10m
1. Rajasthan —

2. Telangana _

3. Goa _

4. Manipur _

5. West Bengal _

V1IIl. Look at the map Write the names of given below. 5x1=5m
Bihar, Kerala, Tamilnadu, Uttar Pradesh, Assam and Telangana

=
Ea




Y.M Summative Assessment-|
Class: 4" Sub: English

Time: 2.45m
Marks: 80

I. Answer any five questions.

1. What did the crocodile want?

2. Who became the successor of the king?
3. Where do the little birds soar?

4. Why did Rohit’s mother scold the grandmother?

5. Who gives rest to the trees?

6. What did the crocodile want?

I1. Fill in the blanks.

1. The monkey up to the tree.

2. Never do these gentle wrong.

3. He was the man on the earth.

4. There lived a King.

5. The crocodile wanted to his friend.
I11. Tick (V) the correct answer.

1. Who was greedy?

a) Monkey(J b) Crocodile (] ¢) Both ()

2. The sparrow comes for:

a) Water () Db)grains (] c¢)crumbs (]
3. How many sons did the king have?

a) Four () b) five (O c) six (J

4. Who was monkey’s friend?

a) Tree (J Db)crocodile (J c) snake ()

5. Midas had heaps of :

a) Silver (] b)gold () ¢) diamond (]

I11. Write the three forms of the verbs.
I 1 1
1. Go
2. Weep
3. Do
4. Have
5. Drink

5x6=30m

5x2=10m

5x1=5m

5x2=10m



1V. Circle the odd one out. 5x1=5m

1. Heart table  lungs brain

2. Hand some pretty beautiful  ugly

3. King poor  queen prince

4. Apple mango grapes potatoes
5. Monkey squirrel  fish sparrow
V. Match the words with similar meaning. 5x1=5'm
1. Beautiful a) difficult

2. L.uscious b) big plants

3. Harsh C) hice

4, Answer d) ripe

5. Trees e) reply

V1. Use the following sentences ‘and’ ‘as soon as.” 5x2=10m
1. Ducks swim in the river. Fish also swim in the river.

2. The principal came into the class. All become silent.

3. She is good dancer. She is a good singer too.

4. They made a solar cooker. They also made a windmill.

5. The crocodile invited him. He jumped down from the tree.

VI1I. Unscramble these letters to write correct spelling. 5x1=5m
1. rrsspuie

2. uckly

3. autifubel
4. recipsou
5. rodcoliec




Y.M Summative Assessment-I Time: 2.45m
Class: 4™ Sub: Maths Marks: 80

I. Word problems. 6x5=30m

1. Which of the following numbers are divisible by 2?

a) 64285 b) 23104  ¢) 36708

2. Find the difference between 296759 and 542492,

3. There are 425 toys

in a packet. How many toys are there in 124 packets?

4. Greatest 4-digit number using digits 7,2 and 5, repeating 5 two times.
5. Subtract 95876 from the sum of 213467 and 123788.

6. Find the common factors in each of the following.

a) 25,30 b) 12,16

1. Round these numbers to nearest 10 &1000. 5x2=10m
a) 349 b) 4,725 c¢) 9,293 d)37 €)82

I11. Arrange the following in ascending/ descending order. 5x2=10m
1' 1_61 M! Z’ ul _7
24 24 24 24 24

2' 1_01 @! g! Z! 9
11 1111 1111

IV. Find the fraction each of the following. 2x242=5m
1.1 of a kg in grams.

5
2. 3 of a dozen.

4



V. Fill in the blanks. 5x1=5m
1. The greatest 6-digit number formed by 2,0,6,1,8,2
2. +279= 279+642
3. 7 and 8 write two common multiples ,
4. Which is smaller 9 or 13?

51 51
5.0+ = 192924,

V1. Find the product. 5x2=10m
1. 35x5000

2. 42x2000

3. 1292x28

4., 2446x137

5. 9845665

VII. Write the next three equivalents fractions. 2x2Y2=5m
1.2,4, 6 : ,
3 6 9
.9, 18, 27 , :
15 30 45

2

V1I1. Write the Expanded from the following. 2x2Y2=5m
a) 8,39,405
b) 92,427



Y.M Summative Assessment-I Time: 2.45m
Class: 4™ Sub: Science Marks: 80

I. Answer any five questions. 5x6=30m
1. Explain the structure of a tooth?

2. Why do we cook food?

3. Write some features of aerial animals that help them to fly.

4. Explain the differences between the life cycle of butterfly and frog.
5. What are the uses of the food made by plants?

6. Write some tips of good digestion.

1. Tick (V) the correct answer. 5x1=5m
1. A Is a specialist for teeth.

a) Chemist [ ) b) dentist [ )

2. Human being are

a) Carnivores (]  b) omnivores [ ]

3. Snakes, turtles lay eggs in

a) Holes [ ] b) nest [ ]

4. are well —developed in flesh-eating animals.

a) Incisors (] b) canines [ )

5. makes the food soft and easy to biggest.

a) Cutting [ ] b) cooking () c) spoiling (]

I11. Write two examples of each following. 2x2Y2=5m

1. Aquatic plants ,
2. Gases present in the our air :

V. Circle the wrong in these sentences and write the correct one.
2x212=5m
1. Green plants do not prepare their own food.

2. Conifers are tall and have cylindrical shape.

V. Fill in the blanks. 5x1=5m
1. Crab animal.

2. There are molars in each jaw.

3. Non-green plants do not have
4, IS the process of producing young ones.
5. Saliva in the mouth helps in of food.




V1. Match the following. 5x2=10 m

1. Chlorophyll a) Green friends

2. Sugar cane b) Green pigment

3. Veins c) fleshy stem

4. Plants d) from of food made by plants.

5. Glucose e) Carry water and minerals to the leaf
VII. Complete it. 5x2=10 m

Animals on the basis of their habitats.

l
! ! ! ! !

VI1II. Write the names of structure of eggs. 10m




Y.M Summative Assessment-| Time: 2.45m
Class: 4™ Sub: Social Marks: 80

I. Answer any 5 questions. 5x6=30m
1. Write any three differences between weather and climate.

2. Write a few lines about evergreen forests.

3. What is hydro- electricity?

4. Name the city, which is the capital of two states.

5. Write the name of tributaries of River Ganga.

6. How many seasons are there in our country?

7. What is CNG? What are its uses?

I1. Fill in the blanks. 5%x2=10m
1. Monsoon winds carry a lot of
2. The Himalayas peaks give rise to many
3. Petroleum is formed from the remains of

4. Desert soil is fertile.

5. India divided into states.

111, Tick () the correct answer. 5x1=5m

1. Which state receives maximum rainfall in winter?

a) Punjab [ ] b) Delhi ] ¢) Tamil Nadu [_] d) Gujarat [ ]

2. Gir National park is located in

a) Rajasthan[__|b) Assam [_| c¢) Gujarat[ ] d) Kerala [_]

3. Plants grow in the :

a) Uppermost layer [ ] b) clay[ ] c) top layer [ ]

4. Which is the smallest state of India?

a) Goa [ b) Rajasthan c) DelhiL_]  d) Manipur[ ]

5. Which forest are also called tropical rainforest?

a) Tidal [ ] b) Deciduous[ ] c) Mountain[ ] d) Evergreen [ ]

IV. Write ‘T’ for true ‘F’ for false. 5Xx1=5m
1. In Delhi people speak only English. [ ]
2. Wheat is a Rabi crop. [ ]

3. Forests help in controlling soil erosion.[ |
4. Large —scale industries require highly skilled labours. [ ]
5. Many wild animals have become extinct._]



V. Match the following.
1. Copper a) precious metal

2. Khetri b) Coal, petroleum, natural gas

3. Gold c) pollution —free fuel
4. Fossil fuels  d) Copper fields
5. CNG e) Malachite

V1. Write the meanings.
1. Climate=

2. Forest=

3. Project=

4, Deserts=

5. CNG=

VI1I. Write the states of the capital.
State Capital

1. Uttarakhand

2. Meghalaya

3. Punjab

4. Chhattisgarh

5. Odisha

VI1II. Write rivers located in map of India.
Krishna, Satluj, Ganga, Bhagirathi, Mahanadi
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Y.M Summative Assessment-|
Class: 5" Sub: English

Time: 2.45m
Marks: 80

I. Answer any five questions.
1. Who made friends with each other?
2. Did the lion kill the dog?
3. What did the king order his minsters?
4. Why is the mother special?
5. What did the farmer do?
6. How is scorpion saved?
I1. Fill in the blanks.
1. One night the donkey met a
2. He gave us to see them.
3. He ran out to give the happy to the king.
4. The donkey was ashamed at his great
5. The Is far away from us.
I11. Tick (V) the correct answer.
1. Who got a good beating?
a)Jackal [] b)Fragile[ ] c¢)both ]
2. Mother never stops :
a) Loving 1 Db)scolding ] c) slapping[]
3. The princess was years old.
a)ten [] b) eight ] c) twenty [
4. People did not want to become .
a) King [] b) ministers._] c) slaves[ ]
5. The sang a song.
a) Jackal ] b)donkey ] c)both [

IVV. Change the following sentences into questions.

1. He gave us eyes to see.

2. The other jackals bowed before him.

3. He howled back at them to shut up.

4. The good God made them all.

5. He got the best of food.

5x6=30m

5x2=10m

5x1=5m

5x2=10m



V. Write the following sentences negative & interrogative. 2x

1. The doctor killed the patient.

2. India team won the match.

V1. Write the opposite of the following words.
1. Happy
2. Possible
3. Sure

4. Appear
5. Longer

V1. Using ‘used to’ rewrite the following sentences.

1. The former worked on the farm.

2. The donkey had to work hard.

3. The donkey brayed very loudly.

4. They washerman washed the clothes.

5. He returned to the washerman on time.

2"2=5m

ox1=5m

5x2=10m

VII. Find the two smaller words in each of the following words.

Calendar < %

Frighten %

2x2Y°=5m



Y.M Summative Assessment-I Time: 2.45m
Class: 5™ Sub: Maths Marks: 80

I. Word problems. 6x5=30m
1. Draw lines AB, CD, and EF so that they are concurrent at a point O.
2. A bean plant measured 8.6 cm on Friday. It grew another 1.25 cm
On Saturday. What was its height on Saturday.

3. Mona can swim 100 m in 42.1 seconds. Akshay can swim the same
Distance in 42.05 seconds. Who is faster?

4. LCM and HCF of two numbers are 54 and 9, respectively. If one of the
Numbers is 18, find the other number.

5. Find the complementary &Supplementary angles.

a) 130° b) 55

6. Round of the following numbers to the lakhs & ten Lakhs.

a) 142536 b) 4535105

I1. Name the following angles. 4x3=12

Figure Name of Angle Vertex Arms of Angle

a)

d >

I11. Addition and Subtraction the following. 4x2=8m
1.21+21 3.1+3

2 4 12 4
2.9 -

4.32-1

3
4

w N

1
4

V. Find the HCF by long Division method. 5x2=10m
1. 900,1125,1350

2.161,171

b) Which of the following numbers divisible by 117

1.23,45,678 2) 3,663 3) 28,35,155



V. Write the following in expanded from. 2x22=5m
1.192.295

2. 1335.67
VI. Use a protractor and measure the following angles. 2x2*?=5m
2 T sf D /
'X\\i//,.g' Q *——E—’
Yz
VII. Definitions. 2x22=5m

1. Mixed fraction:
2. Adjacent angles:

V1I1. Write the following numbers in the International place value
chart. 2x2Y2=5m
1. 36481293

2. 7183693607



Y.M Summative Assessment-I Time: 2.45m
Class: 5™ Sub: Science Marks: 80

I. Answer any five questions. 5x6=30m
1. Name the five main components of food with their examples.

2. How are animals helpful in dispersal of seeds?

3. What does a habitat provide to an animal?

4. What are the different parts of nervous system with their functions?
5. Why do plants scatter their seeds?

6. Mention four ways by which germs can spread.

I1. Fill in the blanks. 5x1=5m
1. Fast provide to the body.

2. Is the framework of bones.

3. can changes from one state to another.

4. Never use appliances with wet hands.

5. Wounds should be cleaned with an lotion.

111, Tick () the correct answer. 5x1=5m
1. Eggs are rich in .
a) Carbohydrates (]  b) proteins (]

2. In a sprain, the injured area up.

a) swells ) b) burns (]

3. provides energy to the body.

a) Burger (]  b) Fruits ()

4, have fixed shape and volume.

a) Liquids (]  b)Solids (]

5. Insects breathe through

a) Spiracles (] b)lungs C]

V. Write two examples of each following. 5x2=10m
1. Communicable diseases ,

2. Animals having spiracle :

3. Plants grow from stem :

4. Reasons behind burning :

5. Energy-giving nutrients :




V. Write the meanings of the following. 5x1=5m
1. Skeleton —

2. First aid-

3. Habitat —

4. Solution-

5. Seedling —

V1. Complete the table. 10x1=10m
Features of habitats

V1. Match the following. 5x1=5'm
1. Soft bones a) Fungus

2. Ringworms b) Fit and healthy

3. Common cold ¢) Calcium

4. Sunlight d) Virus

5. Balanced e) Disinfectant.

V1I1. Name the parts of Brain. 10m




Y.M Summative Assessment-| Time: 2.45m
Class: 5™ Sub: Social Marks: 80

I. Answer any five questions. 5x6=30m
1. Which is the busiest airport in India?

2. Explain various methods of waste disposals.

3. Name two means of personal communication.

4. What is the shape of the Earth at the top and at the bottom?

5. Map are more useful than globes. Give reason.

6. How has the life of the people changed in modern times?

I1. Fill in the blanks. 5x2=10m
1. The in Germany are called ‘utobans.’

2. Directions are always measured from
3. The two points on the globe are called its

4. 1t is connected by air to many cities.
5. was the turning point in the means of transport.
I11. Tick () the correct answer. 5x1=5m
1. Is the cheapest mode of transport.
a) Waterways b) Airways c¢) Railways
2. A map has components.
a) 3 b) 6 c)4
3. We can some waste materials.
a) Reduce b) reuse C) recycle
4. The prairies are very vast, flat and treeless regions of
a) Snow b) grounds C) grasses
5. The first newspaper was printed in :
a) 1605 b) 1615 c) 1595
1V. Write ‘T’ for true ‘F’ for false. 5X1=5m

1. Environment refers to our neighbourhood.
2. Radio was invented by Marconi.

3. Modern machines are used in the farming prairies.
4. The shortest latitude is the Equator.
5. A map is drawn on a flat surface.




V. Write the meanings of the following. 5x2=10 m
1. Golden Quadrilateral=
2. Communication =

3. Globe=
4. Scale =
5. Oasis =
V1. Draw the signs and symbols of the following. 5x2=10m
Places Signs/symbols
1. Dam
2. Tree
3. State boundary
4, Stream
5. Bridge
VI1I. Match the following. 5x1=5m
1. Vegetable a) Air pollution
2. Plastic b) Compost
3. Burning c) Non- biodegradable
4. Manure d) Biodegradable

VI1II. Write any five oceans located in the world map.  5x1=5m




